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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T Aigel/ TR o S U § | U Teh H 9/ 79 iR 9T
o o ute g ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uk ' Jehfeush’’ TR T § fIEeh it 3 40 € qe
YRT &1 AT '’ TR 1 & 3T 59 Fel 37k 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.

UM Weh & ST, 30 - & A1 & T NTHAR
I -YfeRt W, 364 o3 7T STRE & STTER 8 fed s 2
WRT Sl i STR-YRTehT H W Teh o SR el (93 S =1y |

PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the Question Paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.

T ek o foTQ Afehan Toa e Wen guet FHyifa =t T8
B T S T WG], YN Teh i ST-YReeht STHT
HA o qYER o SO | qerty, FeiRa w ue | 9
W Weh U T aTet Treaelt 9T Ueh whi Soi-gfen fFltereh
1 GO & A 1€, U S ohi STR-JFdeh of Tohd |

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.

e, Suftafa-ufierr W eEmeR frg fomm 3 e
I , Friteren s A fom, vdier eter) <o <id B
TR &1 THT T i WY, Ueel sl 39 Higgel/ U H
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HUTT Ueh / PART ONE

(Tt U9 o ST ©/Answer all the questions)

1.1

1.2

el Uk U9 o ST o ohg (dehed fad
T ¥ Uk WO SUeR faehed o i 3/
9 U oh | SUeTel Shllq T ST
I woek o, fou o FEe & erEm
Ead (1x10=10)

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the "OMR"
answer sheet supplied with the question
paper, following instructions therein.
(1x10=10)

Ugell 320HE U9 394 Shid | T ?

(A) T (B) s

(C) sTfo=l (D) T9.T.STR.TH.
Which is the first Internet search engine?
(A) Google (B) Archie

(C) Altavista ((D) WAIS

I T i i o1 T 8 ?

(A)  wifsieen

(B) HEShIHIT

(C) f&=ce amge 94 Haifdam

(D) TELELSE.T

Who is making the Web standards?
(A) Mozilla

(B) Microsoft
(C) The World Wide Web Consortium
(

1.3

1.4

T} ot 11l o1 =R A & fau faer
% T2 3 LA o oF 1= # ¥ for =i
T TN L @ ?

fel. =R ge<d (Event.CLICK);

(B) faSlgsd geied (Event.CLICK);
fégl%e gded (Event.CLICK );
ICEIRE] 3323:[ (Event.CLICK );

To set up the window to capture all Click
events, we use which of the following
Statement?

(A) window.captureEvents

(Event.CLICK);

(B) window.handleEvents
(Event.CLICK);

window.routeEvents
(Event.CLICK );

window.raiseEvents
(Event.CLICK );

e 31y fordt Shenfen wisd 3ie (H).TH.149.)
T sl Ufetde & TR 3TR TR &l HXfEd
1 =TRd §, o1 ot o1ma fe o 9 form foasioa
T YA T ?

SIESATH

THRZ AT

(A) T IR (B)

(C) R STl (D)
If you want to align text to the right side
of an block element in a cascading style
sheet (CSS) then which of the following

property would you use?

) (A) Rightalign  (B) Justify
D) NVDIA , .
(C) Left align (D) Text align
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1.5 TS fhd TR R afEme & € 1.8 FATA. | wWieq & ImW ki

) e B ﬁrwﬁlﬁﬁo‘mw%:
A) HHeH

(C) <=1 feim (D) OREeA EB)) ?m:r\

Routers operate at which layer © ¥

(A) Network (B) Physical ) .

(C) Data Link (D) Transport ) PR

In TDMW, slots are further divided into
(A) Seconds

1.6 TN, <9 A R foava # Heft T2 WoR gomet

B) Frames

(

e (C) Packets
(A) TALTEA (D) None of the above
(B) S=ILTTA e e o o

1.9 YdE THIA 1+ ﬁ @ [ ¥ I YL Teh AT SIIdl
(C) TATTA 39
(D) I TS T (A) Yesd  (B) HfE
Data communication system spanning (C) Tafds (D) 3IUU HIE Tl

states, countries, or the whole world is . .
Flow Control is performed at which of the

(A) LAN following layer
(B) WAN (A) Network (B) Physical
(C) MAN (C) Data Link (D) None of the above
(D) None of the above
1.10 TRR TRA H S8 & Tohe S0 & frereft wal
H S €, e |
1.7 ST ford .
EQ:I WTTWC (A) Rl SISl STl §
(A) 9T T Heah B T e
(B) =TS TN T (C) W H: e fF < 8
(C) o9 Tt ek (D) 1wl fopa wmar &
(D) WK hlg el In the layer hierarchy as the data packet

moves from the upper to the lower layers,
Expand WAN headers are

(A) World area network (A) Added
(B) Wide area network (B) Removed
(C) Web area network (
(D) None of the above (
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2.1

2.2

2.3

24

2.5

2.6

2.7

2.8

2.9

o feam o yeien faeror O 9t @@ o
T €1 ek wed Suger faened 9 i
JUAT faehed U9 U o WY SUeTel Y
T FTHAR ' S Uk |, o T fden
ﬁ;aﬁqn,a}fa}ﬁw (1x10=10)

Teh H2deh 3hY H1e (TASTRHT) Tk foar
HE I TH I FIE © S ATh HH
Teh 2o | Siredl § 3R SR &1 S 3R
TR ST % oI R JeM 3l |

T T U SUF S S Heed 6l T
Feae B Srear ¢ foad #E gur fds uw @y
T H 8 gohd § |

Teh ThRERE WA iR/ geaeR & S
HERR AT A2 hl HUfSH I = ¥

T U TH. T Il HIlifereh G4 1 shol idl
3, S & T T, T W, 0 O
HERIN

T e Suaor € =1 U e farea
T ST &, SH HSTed il ©, SR A Ssrelt
7

T R eash § U a1 31feeh et B
TN TH TR AR |

Teh SeTey faft 21 teh g 1, ' g e |
& 1 TH HeH B

AR TG I q9 el § w9 I8 (iia
a1 & Toh S9ep1 U Rl fpn s W@ R 1 39
iR 1 e U el Sl 2

TEAUHUA Ueh Thifen @hig =& © formen
SYANT ol Ut oM o TerT foman S &1

2.10 TH.3TE.TA.E. S I0 €9 AeeIRIS 3ee

T & |

Each statement below is either TRUE or
FALSE. Choose the most appropriate one and
enter your choice in the "OMR" answer sheet
supplied with the question paper, following

instructions therein.

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

(1x10=10)

A network interface card (NIC) is an
expansion card or a PC Card that
connects your computer to a network and
provides the doorway for information to
flow in and out.

A switch is a device that connects multiple
computers into a network in which
multiple Communications links can be in
operation simultaneously.

A firewall is software and/or hardware
that protects a computer or network from
intruders.

A WAN covers a large geographic
distance, such as a state, a country, or even
the entire world.

A repeater is a device that receives a radio
signal, strengthens it, and sends it on.

A computer network consists of five or
more computers connected to one another.

In an instance method or a constructor,
"this" is a reference to the current object.

The JRE deletes objects when it determines
that they are no longer being used. This
Process is called Garbage Collection.

HTML is not an encoding scheme which
is used to create a web page.

MIME stands for Multipurpose Internet
Mail Extensions.
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3. whiew X | fe3 Tu veei 3R arenien o1 fae e Y # fe U fepean wefia ored /vissl / arerisit
Y H | ITH 3 T TN 1 T hid gU 79 fashed T3 7 o w1y o e ¢ s 3w

ok H TS i | (1x10=10)
X Y
3.1 |er % i A1 UREY I el S ¥ (A) |demRia
3.2 uh e 3R UH HEE & g HeR o (B) |wwaw
e ¥
3.3 [wem Yead ©) |fewts
- :waﬂ@@zﬁr@‘awaﬁwﬁwm ©) |feim
3.5 |wHqfiee AIheTy wies (E) |eTdre
Teh 9 3N T o] THH hid §HI 'S5 TQ
3.6 e e, (F) [T
404" 7' PR W HTAS T
e 1 901 TR FTcl RIS i STid HLH h
3.7 G) |sma=aa URL
AU foreg R T e ATREH foman <mar § ©
38 Yfmfrremamsa s i Ewies & | (H) |Fm == diwg
&Y 1 ¥ e T qd @M Slel hIS i
________ F Y H ST S S
-9 Wi o o ford ICehicl 1 AW
3.9 O |t
feparn St &
T o 9 A & feard & Aream 9 TR oF
3.10 &0
R Yfta foman <1 g § O [
(K) |ww
L) [Tz
M) |rea
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3.  Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)
in column Y. Enter your selection in the "OMR" answer sheet supplied with the question
paper, following instructions therein.

(1x10=10)
X Y

The structure or format of data is

3.1 A Protocol
called
Communication between a

3.2 , B Checksum
computer and a keyboard involves

3.3 The first Network C Simplex
A set of rules that governs data

3.4 . D. Syntax
communication

3.5 Extensible Markup language E ARPANET

Does error 404 or Not Found error
3.6 ) ) F. XML
while accessing a URL mean

Summation operations is performed
3.7 on the bits to check an error- G. Unreachable URL

detecting code

An error-detecting code inserted as
3.8 a field in a block of data to be H. Frame check sequence

transmitted is known as

What protocol is used between )
3.9 . L. Bridge
E-mail servers

Frames from one LAN can be

3.10 transmitted to another LAN via the J. SMTP
device
K. FTP
L. Router

M. Gateway
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4. = Uy A § i Iueey G § T W A1 AR o foren o fore faa Tor sie w1
g U fashed g iR U9 o & 91y fed u ¢ sfiugeiR’’ S oieh § STRSll b Ui gu ST
forenea < | (1x10=10)

A.[3 TR B. |7E C. [FEa=R

D. |=ifem E. [Wireshark F. [192.168.0.0-192.168.255.255
G. [If T R @Rkl | H. |fesiwm I. (@html

J. |@media K. |@charset L. [HZH

M. [GI=E0

4.1 ﬁ@@ﬁ”color:red"ﬁﬁ EES IR C I

42 TH o 1 STEN T & Teee WiEd W # %8 Hifew yhRi & fau et el
TRt e & forg foman S geman ® 1

4.3 et FEl IR el & 9l ¥e TRIfen &1 gk & & fag tF [EREICIEUNIC
T YA foma ST Hehal B

4.4 Hfea Al & faw g At ol IR FH g Th frem =1 ST e S 21

4.5 9 TA. & Y0 €9 ¥ |

4.6 T WA W W/ ME W TH Jead HiEd Tl

4.7 2% T YAH TN I el S B

4.8 T HFHIXR i TH Y9l T

4.9 Foit 9 o 9 Ta & faw 9 7

4.10 TAfET &1 Tfres T2 SYHUT/ TRAT gRI UG S Hehdl § TST&eh! A4 g
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4.

4.1

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option; enter your choice in the "OMR" answer sheet

supplied with the question paper, following instructions therein. (1x10=10)
A. |3 layer B. [Node C. [Hardware

D. [Final E. |Wireshark F. [192.168.0.0-192.168.255.255
G. |Uniform resource locator | H. |Declaration L. |@html

J. |@media K. |@charset L. |Comments

M. (Collection
In CSS what does "color:red" can be called as
An rule can be used to define style rules for multiple media types in a single embedded
style sheet.
A single rule can be used in an external sheet to define character set encoding of
the style rules and values.
An rule is used to define a page block for printed styles.

URL stands for

TCP / IP over internet is a network model.

Each machine on a network is called a

MAC is a property of computer

Range for class C IP address is

4.10 Encrypted data of sniffing can be read by tool/ software whose name is
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9F & / PART TWO

(fR=gl = 9l & IW </ Answer any FOUR

questions)

~

Teh o YA &l fasfad & &
fere emifera = ofR Torifaar @ € 2

T 99 U9 @ fgefaag we & fou
= 3 T T e o fed S ha e
S g3 w1 < gEE e o faafa
F B IR vgelt i bl A hicq §
forfora oved 81 | Tk | ST g8yfi
T 3

IS WUfHT o ®9 | S7aT Skt ST
FaTg ?

What are the stages and strategies
required to develop a web project?

Write HTML code to develop a web
page having two frames that divide
the page into two equal rows and
divide the first row into equal
columns. Fill each of the different
background color.

Explain Utility of Java as Internet
ing?
Programming? (6+5+4)

o9 TEE, I U, oF Fel, Y IR A
3R B U vIsal ki afaren fad 3R
=g ol e o |

e SITSST 37 el Tl o sl 3 oam |
Teh o Fell ¥ h1d LAl ¢ ?

Define the terms Web site, Web Page,
Web server, URL and home page and
also explain systems.

Differentiate between Web browser
and Web Server. How does a web

server work?
(10+5)

g% TEL . /A d. dad W
IeIehTed, STFHU 3R ST HI THE H
™ ford |

FReErTR! 1 € 7 Wrede gt ot
3R ufeceter it e & o9 sid
Jand |

ok Srararst = 2 fafie yer 5t
Jeaeh rdiettst 1 € 2 A Srdretst &
IR H Fand |

List the protocols, devices and unit
of data at each of TCP/IP layers.

What is Cryptography? Explain the
difference between Private Key
Cryptography and Public Key

Cryptography.

What is network topology? What are

the different types of network

topology? Discuss Mess topology.
(5+5+5)
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8. (a) U IR TP & sie 3{aR s |

(b) T TH I TH T Wi fad S T B
& T 31 At FoR T ThR T B |
11 T i o foTe sTenfshe wem
T ST |

() T TR Twiee hl had H&AHE <l
T i =T |

(i) T FRice wret F& e wfeT 3R wer
H 20 99 § Ifyes T g =fe

(a) Differentiate between applet and
application.

(b) Write an HTML form that accepts a
student's name and roll no. Use
JavaScript function to perform
following validation.

(i) Roll no field should receive only
numeric data.

(i) Name field should not be empty and
shall not exceed 20 characters in

length. (5+10)

9. frfafed 4 9 f&dl I w wfara feoof
ford
() A WES BHIMET AR FAE AES
ThHIfET & o9 F®

(i) THCHR FA™

(iii) ot St fghe iR e fere

(iv) 9¥H &=

(v) =W A faeed ()

Write short notes on any three of the
following :

(i) Difference between Server Side
Scripting and Client Side Scripting
Abstract class

iii) VBScript & Java Script

iv) Session Bean

Domain Name System (DNS)

~"

[ Raur R
—-
~

)

(3x5)

-00o0-
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